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Note: All questions are compulsory. Marks are indicated against each question in squgf@g{ackgts. B
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QL - i. A blockchain network is decentralized in nature then discus; 50 j[%i@) ; jji@es [3]
' %?ultable

example for each of the perspective that you would like to mention, 7~
2
ii.  The blockchain network communicates by broad;%ﬁm s essages from one 3]

peer to another peer so that each node will req;;%ef & i te &%d message. Now,
give the details of the layered approach /that thézblo tgiain tietwork used for
o, (77 4

to design a system corrected based on the requirements. Ao %\ﬁ

communication. i, %%%
. e .
Q2. 1. Broadly, there are two kinds of cryptogtaphy, ‘ention each of them with their [3]

benefits and limitations in a tabula% oot

(AN |
ii.  Game theory is playing,a vifPrple,in ‘the blockchain to achieve consensus [3]
" 7" among nodés via setting some; fﬁ%ﬂ% target, So, what is this difficulty target '

and how it can be achie%é;g %i;ﬁ%r er example,

i
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Q3. i.  Blockchain is on ,0f 1l ﬁ%o% isruptive technologies as of today. But due to [3]
its decentralized nafiye if,7equires a huge computation as in Bitcoin to propose

a block of 1@1 va?%actions through proof of work. Provide some other

COnsensus @% tithat is quite popular without burning a lot electricity and
compuigfion,poter.
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iii, Ay;ﬁ% rhas capability to propose a block in the network then how a [3]

11l always have a single chain of blocks.

b, Ve, D%én’be the block structure of Bitcoin blockchain with suitable description of (3]
%..  ‘edch structure.

Q4. One of the main issues in Bitcoin is validating a transaction efficiently because one needs [}
to,check all the preceding blocks and its hashes to verify. So, which way Bitcoin used to
make this kind of validation efficient and even a light node can also perform validation for
a given transaction without storing the up-to-date ledger state with sufficient details?

Qs. Nowadéys, DES.is not very much popular due to its inherehi‘ weaknesses. Provide the  [7]
reason behind it in points and which algorithms replaced the DES. Also provide the
encryption and decryption process with all of its components.



